Sechions 4. 2-3 Mean Volue Theoremn an
Frret ecvvatve  Test

Le,o.m'mq Goals

Learning Goal Homework Problems
4.2.1 Find the values that satisfy the conclusion of the Mean Value 1-8.

Theorem.

4.2.2 Identify functions that satisfy the hypotheses of the Mean Value | 9-16.

Theorem.

4.2.3 Use Rolle's theorem to investigate the number of zeroes of a 17-28.

function on given intervals.

4.2.4 Find functions and values of functions given the derivatives. 29-42.

4.2.5 Find the position of an object given its velocity or acceleration 43-50.
with appropriate initial value(s).

4.2.6 Solve applications involving the Mean Value Theorem. 51-56.

4.2.7 Answer conceptual questions involving the Mean Value 57-78.

Theorem.

Learning Goal Homework Problems
4.3.1 Find intervals where the function is increasing or decreasing, 1-46, 67-68.

and extrema given the function, its derivative, or the graph of either.

4.3.2 Find local and absolute extrema in given domains. 47-58, 69-70.

4.3.3 Discuss extreme-value behavior of functions by analyzing their | 59-66, 75-85.
first derivatives.

4.3.4 Create a function that has given extreme values. 71-74.

4.3.5 Show that given functions have inverses over their domains. 86-90.
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